H
S

= 3 =
© F L Y% )
= L

= o ©

= - - o

S * -1 Y

r © 10 T

[ (¢]

<

[s]

T IIIIIIII
ol
u B
e —

. : 2l b
103k i T o N 107 =
E N - H H E
E : el : F *
C : e [ fl
3 : P T : i
B 1 S LHE O Rk S 11 S
oot vl o 10T ——" R
T I ' I T
e ¥ T TR S S A E 2 E5 A5 MG U0 U
0.95F L RECEREEE: SLtF B ¥ F Y T PEPEPEPrn [ 3

0.95 =

o
©

1

=
o
iN
A
=
o
iN

2 3 2 3
TPlp(>)T (PCA t%obeamlinélf) TPlp(>)T (PCA t%obeamlinéLP

i Céf 4%%8’2‘5%\7@“.”._“““:“
:Eﬁs - %&iﬁ?ﬁ—]‘%@%bmms 1000evt

T

=~ 1= 1
IS : 1S i
o (&)

e e

~ ~

o]

o 2

B S

107 %=

107 1072

e

10 1

2 3
TPl;g)T (PCA t:(L)obeamIin(:eLP

+

— H ]
10 1 TI';"%T



	Contents
	Page 1


